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FOREWORD

The Candidates’ Items Responses Analysis Report (CIRA) in the 2019 Arabic
Language subject for the Certificate of Secondary Education Examination (CSEE)
has been prepared in order to provide feedback to educational administrators,
school managers, teachers and other stakeholders about candidates’ abilities in the
Arabic Language subject.

The Certificate of Secondary Education Examination (CSEE) is a summative
evaluation which, among other things, shows the effectiveness of the educational
system in general and the educational delivery system in particular. Essentially,
the candidates’ responses in the examination questions is a strong indicator of
what the education system was able or unable to offer to candidates in their four
years of Ordinary Level Secondary Education in the subject.

The analysis presented in this report is intended to enhance understanding of the
candidates’ responses in Arabic Language subject. The report highlights the
factors that made the candidates score high marks in the National Examination.
These factors include; the ability to interpret the requirements of the questions,
the ability to follow instructions as well as adequate knowledge on the concepts
in the Arabic Language. The report also highlights factors that led to poor
performance such as; failure to identify the demand of the questions, inability to
express oneself in Arabic Language and inadequate knowledge on the concepts,
principles and rules related to the Arabic language subject.

The feedback provided in this report intends to enable education administrators,
school managers, teachers, candidates and other education stakeholders to
identify proper measures to improve teaching and learning in secondary schools.
This will consequently improve candidates’ performance in future examinations
administered by the National Examinations Council of Tanzania.

Finally, the council would like to thank the Examination Officers, Examiners and
all those who participated in the preparation and analysis of the data used in this

report.

Dr. Charles E. Msonde
EXECUTIVE SECRETARY
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1.0

INTRODUCTION

This report is an analysis of the performance of candidates who sat for the
Certificate of Secondary Education Examination (CSEE) in the Arabic
Language subject in November 2019.

The Arabic Language paper consisted of twelve (12) questions with sections; A,
B and C. Candidates were supposed to answer eleven (11) questions. In sections
A and B, the candidates were required to attempt all questions. In section C the
candidates were required to choose three of the four questions. Section A had
two questions, where question one (1) had ten (10) items that carried 10 marks
and question two (2) had five (5) items that carried five (5) marks making a total
of 15 marks. Section B had six (6) questions, where by question three (3) carried
10 marks; questions 4, 5, 6, 7 and 8 carried 6 marks each, making a total of 40
marks. Section C had four optional questions, each carried 15 marks.

The analysis of the Certificate of Secondary Education Examination (CSEE) in
Arabic Language presents the requirements of each question and shows the
expected responses for each of the questions and how the candidates answered
the questions. Samples obtained from candidates’ responses are presented in
order to provide a general picture of how the candidates responded to the
questions.

The rating of candidates’ performance has been grouped as 'good’, ‘average' or
'poor’ which are represented in different colours. In this analysis, if the
performance ranges from 65 to 100 percent it was categorized ‘good’ and is
represented by colour green; 30 to 64 percent was categorized as ‘average’ and
is represented by colour yellow; and 0 to 29 percent was categorized as ‘poor’
and is represented by red colour. This analysis is based on the average
percentage of the candidates who scored 30 percent or above of the total marks
allocated to each question. The overall candidates’ performance is summarised
in the Appendix.

The total number of the candidates that sat for the Certificate of Secondary
Education (CSEE) in November 2019 in Arabic Language were 20540; out of
which, 5,723 (27.88%) of the candidates passed and (72.12%) of the candidates
failed. In 2018, candidates that sat for the Certificate of Secondary Education
(CSEE) were 12,137; out of these, 5,816 candidates (48.00%) passed and
6,321candidates (52.00%) failed. This implies that the performance of the



candidates in the year 2019 has decreased by 20.12 percent compared to the
year 2018.

2.0 ANALYSIS OF CANDIDATES’ PERFORMANCE IN EACH QUESTION
2.1 SECTION A: Multiple Choice and Matching Items

This section consisted of two questions. Candidates were required to attempt all
the questions. Question one (1) was on multiple choices and had ten (10) items.
Question two (2) was on matching items and had five (5) items. Each item
carried 1 mark, making a total of fifteen (15) marks in this section.

2.1.1 Question 1: Multiple Choice

This was a compulsory question, it consisted of 10 multiple choice items
derived from various topics of the syllabus. The candidates were required to
choose a correct answer from the given alternatives and write its letter besides
the item number in the answer booklet provided.

The question was attempted by 20,539 candidates (100%). 246 candidates
(1.2%) scored from 7 to 10 marks, which is good performance, 8,972 candidates
(43.7%) scored from 3 to 6 marks which is average performance and 11,321
candidates (55.1%) scored from O to 2 marks which is weak performance. This
shows that the performance in this question was average, since 9,218 candidates
(44.9%) scored from 3 to 10 marks. The overall candidates’ performance in the
question is summarised in Figure 1.
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Figure 1: Candidates’ Performance in Question 1
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The analysis of candidates’ item response is as follows:

Item (1), was:

A=
03—
Z)‘ -2

S

-~

The item intended to test the candidates’ ability to identify jussive particle and
the ability to differentiate accusative particles from jussive particles. The correct
answer was (2) (¢!). The candidates who responded correctly to the question had
sufficient knowledge on jussive particles and accusative particles. However, the
candidates who opted for |, <, = and - were wrong because “Lan- An- Idhan
and Kay” (S -0 -¢i) -¢) are accusative particles. Additionally, those who chose
incorrect answers could not distinguish accusative particles (ewail <i/s9) from
jussive particles (ajad <(s4). Accusative particles (el </s4/) when precede or
when came before the present verb (£ kael/ J2df), the verb takes accusative case
whereas the jussive particles (ajat </s9/) when they precede or come before the
present verb (gFokaell Jedl), the verb takes jussive case. This suggests that the
candidates who failed to choose the correct answer lacked not only the
knowledge of accusative particles but also knowledge of jussive particles.

Item (2) required the candidate to identify two types of inflection which relate to
the noun and verb. The item was:

B s 21 e A5 0l Syt s 2 088 2
Laally ’téjl\ ~ |
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The correct answer was (1) (««<ails £44). The candidates who opted for (1) ( &4/
«wailly were able to identify the types of inflection which take part in both
nouns and verbs. The candidates who opted for «, =, 2 and - failed to identify
the correct response probably due to lack of knowledge about types of inflection
which relate to the noun and verb. In Arabic language there are four types of
inflection (<Le ¥/ £s%) namely; (aialls iy cuailly £40) and only (cxailly £44)
are used in both verbs and nouns. Many of them opted for (=) Nominative case
and imperative case. They confused the word &84 and did not know the word
(aad) is not used in both nouns and verbs. This shows that the candidates did
not master well the topic of inflection.

Item (3) stated that:-

JUK AR

LI/ &
.J“d,d e s

“ P SN
Cd ol SN SIS (3

4 S 55 88 35 -
Sy 3 56 15 -
o/..ﬁb oais 8 15 -

-\.E.z.h A.x..a.jb uj..,a.w JL{J.:- -A

In this item, the candidates were requwed to identify the inflection of the word
“Jaalisaati” (<twda), The correct answer was (2) (fssly gl Sl 13), The
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candidates who opted for (<) were familiar with inflection and the knowledge of
(¢is8/ 4 o1s) This response was opted by candidates who had adequate
knowledge of inflection and the functions of (kaana wa akhwaatuha) in the
sentence. However, the candidates who failed to opt for () had insufficient
knowledge of inflection. If you put Kaana (&) or one of its sisters in a sentence
it will change the predicate (4 from the nominative case (£s44/) to the
accusative case (i),

Item (4) required the candidates to identify the plural of the word “Al-watan”
(o). The alternatives were:

ol f3 B LS (4
by
By -

Sgb o

Lbha —s

:)\l:js}ﬂ —a

T N

The correct answer was (=) “Al-aw-twaanu” (Jtas¥). The candidates who opted
for (=) had sufficient vocabulary. Plural in Arabic is divided into three parts
namely: (L#wS gaa ) jam-u takseeri, (allw Sie ga3) jam-u mudhakkari saalim
and (allw &ipe zea) jam-u muannath saalim. (Ls«s/ zaa )jam-uttakseeri is made
by changing the structure of its noun in a singular form, and the correct response
falls under this type. As for (allw Sie £e3) jam-u mudhakkari saalim, this is
changed to plural by adding suffix wau () and nun () for nominative case or
yaau () and nun (¢) for accusative and genitive case at the end. In regard to
(alw &ipe ga3) jam-u muannath saalim it is changed to plural by adding suffix
alifu () and taau (<) at the end. The candidates who opted for other alternatives
did not have enough vocabulary and knowledge of Arabic plurals.

Item (5) required the candidates to identify “Khabarul-mufradi” (The singled
predicate) in the given sentences. The item was:



e dié,.l\a ik W J.o._ll U.-o.b-lj 5.0
Joh B30 ;,L;ﬂ\ -
Jadh -
Yoy 3y ) -
i b
oA 3 25 o5 G -

The correct response was (=) “The workers are very tired”. The candidates who
opted for (=) had enough knowledge of types of Predicate. However, most of
the candidates opted for (). These candidates were attracted to the short
sentence.

The item (6) stated that:
O gl g5 B ol

39 it g

A G 00 o Pl

g oS Pl

Ll 5 4l g it 0

A p sl
In this item the candidates were required to identify the inflec’tion of the word
“Yartaquuna” (make progress) in the given sentence. The correct answer was

(<). Present tense is in a nominative case by having a “nuuni” (¢4 on behalf
of “dhammah” (4<a<f). The correct option (<) was opted for by the candidates
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who had adequate knowledge about Arabic inflections. The candidates who
lacked such knowledge opted for (1) “Present tense in a nominative case with an
estimated “dhammah” (4a/) on the letter “Al-wawuu (s/#).” (C) Present tense
is in a nominative case by having “Assukuuni” (¢S« on behalf of “dhammah”
(daal), (2) Present tense is in a nominative case by having “Al-wawuu” (/) on
behalf of “dhammati” (4a&f), () Present tense is in a nominative case by
having “Al-fat-ha” (4aidf) on behalf of “dhammati” (<aaf). Hence candidates
who chose these answers lacked knowledge about the inflections in Arabic
Language.

Item (7), was as follows:

1/ S “"Y
'/ I /

£
-EE,.

J LgAJI

In this item, the candidates were required to identify the uninflected words. The
correct response was (<) “yadh-rib-na, hay-thu, zaara” (LLj «&a «ysi). The
candidates who opted for (<) had mastered well the topic of inflected and
uninflected words. The candidates who provided incorrect answers lacked
knowledge of the difference between Mabniyu (- and Muurab (¢ed).
Mabniyu (.~ is a word that is required to remain in a fixed condition, in spite
of the different governors that precede it whereas Muurab (<4 is the word
which is changed at its end because of the different types of governors that
precede it or the governing factors that affect it.
7



In item 8, the candidates were required to identify the principles of an adjective.

(3 Sy g i ) 8

5
. P q’
S5 4 el

S g0y dad) -0

P 2

o, o N, ty
Ve d.u.a.:j andy —ox
59 45 s -

A5 405 48 -

The correct answer was (=) “Raf-ihi, wanas-bihi wajarrihi” (eJay 4ualy 424).
The candidates who opted for (=) knew the concept of (<= (description)
and (<.seid) (a described word). The candidates in this category had sufficient
knowledge on (<. Many of the candidates opted for letter (). These
candidates were confused about types of words. Which are noun, verb and letter.
On the other hand candidates who opted for other alternatives were not aware
that in Arabic Language the adjective (<) is a follower of a described word in
its raf, nasb and khafdh (jarr).

In item 9, the candidates were required to identify the type of simile used in the
given sentence. The item was:

NG Y o o D5 S BT 3 0,

R



qﬂz

-2

Y

The correct answer was (1) Mur-salu (J«9). The candidates who opted for ()
had sufficient knowledge. The candidates who opted for other alternatives did
not have knowledge of Arabic simile.

In item 10, the candidates were required to identify the sentence of “Inshaa-
iyyah”. The item was:-

ond sedoty V) BN WIS AU St (100
Syaad Al ) &%5‘ -
Lo gtaall AL el -0
B LI JaRL G

-

In this item the candidates were required to identify the sentence of “Inshaa-
iyyah”. The correct answer was (¥). The candidates who opted for 2 had
sufficient knowledge. The candidates who wrote wrong answers did not have
sufficient knowledge.

2.1.2 Question 2: Matching items

The question consisted of five (5) matching items. It intended to measure the
knowledge of vocabularies from the topic of expression. The candidates were
required to match each adjective in List A with its opposite in List B by writing
the letter of the corresponding response beside the item number in the answer
booklet provided.



The question was:

S S5 S () 2048 @ (W) GSes () 2028 g 3 G ol -2
Y B G JIE o5 %
(<) 3544 (y 35430
2okl f 2S5 1
e=y B | 20
S| = & | 3
Ik | 4
ZS; A QL; 5u‘
= g
AU

The question was attempted by 20,540 candidates (100%), out of which 1,608
candidates (7.8%) scored from 3.5 to 5 marks, which was good performance,
5,599 candidates (27.3%) scored from 1.5 to 3 marks, which is average and
13,333 candidates (64.9%) scored from O to 1 mark, which was poor
performance. The general performance of the candidates in the question was
therefore average, considering that 7,207 candidates (35.1%) scored from 1.5 to
5 marks. The overall candidates’ performance in the question is summarised in

Figure 2.

100 -~
90 -
80
70 A
60
50 +
40 A
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Percentage of Candidates

64.9

27.3
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Figure 2: Candidates’ Performance in Question 2
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Item (1) required the candidates to identify the opposite of the word (<9
“Intelligent”. The correct response was (-) (=€). The candidates who matched
the item with the correct response had adequate knowledge on the meaning of
the word. However, there were candidates that opted for () (&=&) “Slow” as the
response to the question. These candidates lacked not only the knowledge to
identify the meaning of the adjectives in list A but also the meaning of the
words in List B. Nevertheless, there were candidates who chose other incorrect
responses. These responses to the question indicated the candidates’ lack of
knowledge of the meaning of adjectives in the question.

Item (2) required the candidates to identify the opposite of the adjective (<)
“new” The correct response was () (a4 (old). However, the candidates that
opted for (1) c=& (Slow), (<) «dués (Light), failed to identify the correct response
probably due to lack of knowledge about both the meaning and the opposite of
the words.

Item (3) demanded the candidates to identify the opposite of the adjective (&)
(fast). The candidates who opted for the correct response (1) (c=£) “Slow” had
knowledge of vocabulary. However, some candidates who matched it with (<)
did not understand the meaning of the adjective.

Item (4) required the candidates to identify the opposite of the adjective (i)
“heavy”. The correct response was (<) «&ds (Light). The candidates who
performed well in this item were able to identify the correct response and match
the item correctly. This implies that these candidates had sufficient knowledge
of the meaning of the vocabulary. However, some candidates lacked
understanding of the word and matched the item with irrelevant responses.

In item (5) the candidates were required to identify the opposite of the adjective

(J&€ }Expensive”. The correct response was (=) («<.) “cheap”. However,
there were candidates that selected the incorrect responses (&) «&€s (Light), (=)
<= and (1) (&=4&) “Slow”. Such candidates were not aware that “(<)<&ds (light),
(@) £ and (1) (&=&) “Slow” cannot be the opposite of the adjective ()
“Expensive”. This is attributed to candidates’ partial knowledge of words in
Arabic Language.
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2.2 SECTION B: Short Answers

This section had six (6) questions and each question had six items except
question three that had five items. The candidates were required to answer all
questions. Each question carried six (6) marks, except for question 3 which
carried ten (10) marks, making a total of forty (40) marks.

2.2.1 Question 3: Analysing the Underlined Words

This question had five items and the candidates were required to analyse the
underlined words given. As in Arabic language the word may change its ending
due to the role of the word in the sentence. The process of this change is called
inflection (<< ¥)). This question tested the candidates' ability to analyse given
words in a sentence by using inflection (<.« ¥)). The question was:

e ue i g
Gisd sl uuw 5

J\ SLD gl -2

The question was attempted by 20,540 candidates (100%), out of which 17,351
candidates (84.5%) scored from 0 to 2.5 marks, which was poor performance,
2,604 candidates (12.7%) scored from 3 to 6 marks, which was average
performance and 585 candidates (2.8%) scored from 6.5 to 10 marks, which was
good performance. The general performance of the candidates in the question
was therefore poor, considering that 31,89 candidates (15.5%) scored from 3 to
10 marks. The overall candidates’ performance in the question is summarised in
Figure 3.
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Figure 3: Candidates’ Performance in Question 3

The candidates who scored low marks in this question were not able to analyse
the underlined words as required. Most of them provided irrelevant answers
because they did not understand inflection of the underlined words. The
candidates who analyzed incorrectly the word “gota?” (two students) in (3f)
for example, it seems were not aware about inflection of Arabic nouns
especially dual nouns. As for number, nouns (ste¥) in Arabic Language have
three forms, Singular (<44, dual (.~4) and (&=a) plural. Singular (444 refers to
a single entity; dual (9 refers to a two entities while (&<a) plural refers to a
three or more entities. A dual noun in Arabic is marked by suffixes called ( <
i) and (o) csior () skand (&) ¢ Hence we can state that (¥ ol 24 4
sy sy cualg) Therefore, the correct information for the word c&dthd in (31)
Was . (Ale 4% dalall o A i) 4ed) dade g g 40 Joli=glilhl ). Additionally,
some of them left the questions unanswered. There were also candidates who
just copied the words from the questions and use them as their responses. This
was attributed to their lack of competence in the Arabic Language which
hindered them from identifying the underlined words in the given sentences.
Extract 3.1 shows a sample of a poor response.

by Wz SN

S 9 . o)
TP P PR AT CA O ST AR
«1 (Q.is)l_;'g(xthf\N“ \_

=0 N i
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Extract 3.1: A sample of a poor response to question 3

The Extract 3.1 above shows a sample of a response from a candidate who was
unable to analyse the words in the given sentences and escaped the word “

The analysis of the candidates’ responses shows that 12.7 percent of the
candidates had average performance in this question. Some of these candidates
there were those who were able to analyze the underlined words in some parts
of the question. Some candidates for example failed to analyse the word éistat/
(new), it seems that these candidates were not aware about naatu (<)
(description) and < s2is (described word). (<) is a follower of the described
word in its raf, nasb and khafdh (jarr), Therefore, the correct answer for the
inflection of the word 34-ad/ (new) was supposed to be 4ede y i paio i 5Ll
5 alh 4aid 4eai since < seio (described word) was in accusative case (eswaid).
Other candidates in this category gave wrong explanations, one of the
candidates for example in (31) wrote (predicate) & - 5Lusf instead of =sLiasls
S aLL dadd dpai dodle g oy puais dand in (3— ) Wrote 4y [sede— Lise/instead of
SILE 5 oS 5 4> dadle g g e 4] cilaa = L5aad| Furthermore, there were some
candidates in this category that left some parts of this question unanswered. This
performance can be attributed to candidates’ partial knowledge about nouns,
(slewd), adjectives (i), verbs (Jed) prepositions and genitive construction
(i),

The candidates who performed well in this question were able to analyse the
underlined words given as required. The correct response for the question was

”

as follows in (31). e 4% diiall (ue dubui Cil¥) dady dadle 5 £ 48 00 Jold =Ll The
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second word was 4L 4ol 4eai Lade g o puaris i =51iasd/ In (3<2) the correct
response Was &MLl daus ded) dadle g £ pd pa Jogaall s £ jlira Jad =giia] the
second word was Sslli da 4ed, Lade 5 £ 44 o Joldll cuili = EleLid) The correct
response in (3= ) was 3 Lb 4o 42d; Ladle g £ 44 40 £ jlaa Jod =cia y/and the other
word Was 5Ll &S o a dadle g g pia 4] cilaa = 45aad] In (39) the correct
answer was <l o ptdi Liga g i pad Jeldllg ol gSuad) o pisa sa¥) Jad = 34 the
next word was #lewd cea 43¥ dadill 6 dbui Cil¥) duaai dade g ot puria 4 Js2da = Al
) cilaa jadl Jaa B i) o ve Juaia pads cilbiial) LSy ciliaa g g daadd) | (3
) Conll) Ladle oLilly geidl| o phsa pudilad] Jodl) = Cizain the next word was =,/
s ¥l ot A fna ¥ g5 e ise ad] i pa and the last word was  ad =il
5 ALE 5 S 5 4 Ladle g ALy 4902 This shows that the candidates were familiar
with the inflection of nouns, (ste), adjectives (4isd), verbs (Jed) and
prepositions, they were also good in genitive construction(44.<¥). Extract 3.2
shows a sample of a good response.

“ T A TNT e o 2ok - {’/7.4.'/ e
j,w\ﬁ Mooy o A):.VAM LRV DR VDA 3 S, 2 S

S - o - v 4 o - N ° ,)
W E T Va s N R e\ T A Ty
= ,OJJ L{J /ul, = — (/

~ 7~ R =
o ot 17 o7 Ul
//’/ 7 - _J _
G -
. ' s ot~ - 7 2 \-\4
LW T e AR VA AW
- - T2 &= T
6 A1 4
e A
- o a - LA v > /)), o W 2
AV A\ N e 3O 2 A St DS s R
= — ~CI 7 (2 =
g 'y
t £ &\/é\;
— / py
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Extract 3.2: A sample of a good response to question 3

The Extract 3.2 above shows a sample of a response from a candidate who was
able to analyse the words correctly in the given sentences.
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2.2.2 Question 4: Correcting Errors of the Underlined Words

This question had six items and the candidates were required to rewrite the
given sentences and correct errors of the underlined word. This question tested
the ability of the candidates to use correctly the given words in different ways in
the Arabic Language.
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The question was attempted by 20,539 candidates (100%). 19,182 candidates
(93.4%) scored from 0 to 1.5 marks, which is poor performance, 908 candidates
(4.4%) scored from 2 to 3.5 marks, which is average performance and 449
candidates (2.2%) scored from 4 to 6 marks, which is good performance. The
general performance of the candidates in the question was poor considering that
1,357 candidates (6.6%) scored from 2 to 6 marks. The overall candidates’
performance in the question is summarised in Figure 4.
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Figure 4: Candidates’ Performance in Question 4

The analysis shows that the majority of the candidates in this question scored
low marks, as they failed to correct errors of the underlined words in the given
sentences. Some of the candidates left parts of the questions unanswered while
others responded to the question by adding some unrequired words in the
sentence. In item (<) and (=) for example one of the candidate added the word
() “yes” before the sentence while in item (=), (9 and (¥ the candidates
added the word (¥ ‘no’ before the sentence. There were also candidates who
just copied the sentence without correcting errors in the underlined words and
there were those who just changed the structure of the given sentences. This
implies that the candidates either failed to understand the requirement of the
question or they did not know the meaning of the words in the given sentences.
Extract 4.1 is an illustration of a poor response to the question.
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Extract 4.1: A sample of a poor response to question 4

The Extract 4.1 shows a sample of a response from a script of a candidate who
failed to correct errors of the underlined words in the given sentences.
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The analysis of the candidates’ responses indicates that 4.4 percent of the
candidates had average performance in this question. Among them, there were
candidates who were able to correct the errors in the underlined words in some
parts of the questions, while in other parts they either left them unanswered or
gave wrong responses. This is attributed to candidates’ partial knowledge of
Arabic Language.

Moreover, the analysis of the candidates’ responses shows that there were only
2.2 percent of the candidates who scored high marks in this question. These
candidates managed to correct errors in the underlined words as required. One
of the candidates for example, managed to correct the underlined words as
follows; (+.4) to be (cw+s) in part (1), (cs=id) to be (&id) in part (<), (a¢i#) to
be (44 in part (=), (kL) to be (L) in part (2), (48 to be (k) in part
(=) and (#¥34) to be (e4#) in part (s). This shows that the candidates had
adequate knowledge on the use of different words in Arabic language. Extract
4.2 shows a sample of a good response.
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Extract 4.2: A sample of a good response to question 4.

The Extract 4.2 shows a sample of a good response from a script of a candidate
who was able to correct errors of the underlined words in the given sentences.
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2.2.3 Question 5: Meaningful sentences.

This question had six items and the candidates were required to provide
examples of the given topics in meaningful sentences. The question tested
candidates’ ability to construct meaningful sentences.
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The question was attempted by 20,538 candidates (100%). The performance in
this question was generally poor. 17,368 candidates (84.6%) scored from 0 to
1.5 marks, which is poor performance, 1,992 candidates (9.7%) scored from 2 to
3.5 marks, which is average performance and 1,178 candidates (5.7%) scored
from 4 to 6 marks, which is good performance. The overall performance in this
question is summarized in Figure 5.
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Figure 5: Candidates’ Performance in Question 5

The analysis of candidates’ responses shows that the candidates who performed
poorly in this question failed to identify the demand of the question. The

analysis shows that many candidates provided information which was not
20



required in the question. Some candidates for example mentioned examples of
the concepts instead of constructing the sentence, One of the candidates for
example in item (5') mentioned the pronoun (&= “We” as the answer. It was
also noted that some candidates in this category defined the concepts. One of the
candidates for example in item (5.) wrote ( <l £ _lisall Jad JS 34 ; desail Ji2d¥
Lblia pb gf delan 919 of uidl il 4) “Five verbs are any present verb suffixed by il
Ceil (dual alif suffix) or <slea gl (masculine plural waw suffix) or 4xhlis £l (second
person feminine singular)”. This response suggests that the candidates either did
not understand the requirements of the question or lacked the knowledge of
constructing the meaning full sentence. There were also candidates who wrote
meaningless sentences. This illustrated not only a candidates’ lack of knowledge
in constructing meaningful sentences but also a candidates’ poor writing skills
in Arabic Language. Extract 5.1 is a sample of a poor response from a student
who scored zero mark in question 5.
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Extract 5.1: A sample of a poor response to question 5.

The Extract 5.1shows a sample of a response from a script of a candidate who
failed in all parts of the question.
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Further analysis shows that, 1,992 (9.7%) candidates scored from 2 to 3.5
marks, which is an average performance in Question 5. The candidates in this
group had average performance due to various reasons: some of them left some
items unanswered others constructed the sentences with grammatical errors.
This shows that they did not have good mastery of Arabic terminologies.

The candidates who performed well in this question were able to construct four
or all of the sentences using the concepts as required in the question. The
candidates in this category demonstrated a high level of competence and
appropriate writing skills in Arabic Language. They spelt words correctly and
had minimum level of omissions of words in their sentences. One of the
candidate who performed well in all items for example, responded to the
question as follow : (5) Gbws 4wt f <103/ Lf “I am going to school in the
morning”, (5<) (¥l 4ilild ;silf £La  The one I met yesterday came”, (5-) <dlw
St 5 4ithll ““The plane travelled at night”, (3) Cutgiae <Ll Students are diligent”,
(o) Siidaio i (55) agedld g (i mall “Teachers are beating their students”.
These responses suggest that the candidates had adequate knowledge and
constructed meaningful sentences using the Arabic concepts given in this
question. Extract 5.2 is a sample of a good response from a candidate who
scored all of the 6 marks allotted to the question.
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Extract 5.2: A sample of a good response to question 5

The Extract 5.2 shows a sample of a response from a script of a candidate who
was able to answer all parts of the question correctly.

2.2.4 Question 6: Uses of Present Tense with the Jussive particle ‘Lam’ ().

This question had six items and the candidates were required to put the particle
“Lam” (ad in the present tenses given and make necessary changes that will
occur after using it. The question tested the candidates’ ability on the use of the
present tense with the jussive particle ‘Lam’ (a) in the sentence.
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The question was attempted by 20,539 candidates (100%). The analysis of
candidates’ responses shows that 18,845 candidates (91.8%) scored from 0 to
1.5 marks, which is poor performance; 1,253 candidates (6.1%) scored from 2 to
3.5 marks, which is average performance and 441 candidates (2.1%) scored
from 4 to 6 marks, which is good performance. The general performance in this
question was poor since only 1,694 candidates (8.2%) scored from 2 to 6 marks.
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The overall performance in this question is summarized in Figure 6.
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Figure 6: Candidates’ Performance in Question 6
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This question is among the questions that were poorly performed, since the
majority of the candidates (91.8%) had low scores. This shows that most of the
candidates did not have knowledge on the use of jussive particle “Lam” ()
hence, they failed to use it in the sentences according to instructions provided in
the question. Some of the candidates in this category were able to use correctly
the particle “Lam” (a) in only one sentence, and others failed to use it in all
sentences. It appears that these candidates were not familiar with jussive
particles (sjaf </s4). Some of jazim particles (sa <ls) in Arabic are Lam”
() and laa nnaahiya <ol ¥ Lam” (a): is used to negate past tense; however it
must be followed by present tense of the verb, for example (L4 L& G uﬁyﬁ-)
someone did not ask for help from the miser. As to the verb it changes a bit.
There were some candidates however, who were able to use it in some sentences
but were unable to make changes which were expected to occur after using the
particle “Lam” (a). The responses from different candidates show that these
candidates lacked Arabic Language proficiency. Extract 6.1: shows a sample of
a poor response from the script of a candidate who failed to change the present
tense after using particle “Lam” (a).
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Extract 6.1: A sample of a poor response to question 6

Extract 6.1: A sample of a poor response from a script of the candidate who
failed to change the present tense after using particle “Lam” ().
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Furthermore, the analysis shows that 1,253 candidates (6.1%) scored from 2 to
3.5 marks, which is average performance in question 6. Among them were
candidates that were able to answer item number (67) and item number (6 =).
This suggests that they had partial knowledge of the jussive word (Lam” (a))
and how to use it in a sentence of Arabic Language. They therefore failed to use
it in other items. In item number (6<2) for example, the item was e slewd/ pdai
bl Bgiu instead of writing the correct answer. b/ L piw cide gl ciai ally
removing the final letter of the present verb candidates wrote a wrong answer as
bl bghus cie plawd) giai alwithout removing the final letter. In item number
(6-2), the sentence was &L (el af 32 Instead of writing the correct answer
5l gl af Lo candidates gave a wrong answer. Some candidates in item
(62) 68 Gl af Ladlif) removed both nuun and waaw and kept sukuun on the
letter <+while in item (6) they dropped both alif and nuun from the present verb

Jluldiand kept sukuun on the final letter (dal). This shows that the candidates
had partial knowledge on the rule of the jussive particle.

However there were few candidates who managed to use correctly the particle
“Lam” (&) in all sentences. These candidates put the word in the right place as
required and were able to make changes which were expected to occur after
using it. These candidates realized that the form of the verb in item (61) <& and
in item (6 =) which are in nominative case should change to jussive case. They
also realized that the form of the verb in item (62),cswtad (6-2) Csel and (65)
Juliitheir final nuun ¢ should be dropped. They also realized that, the verb
in item (6<) sé<ithe final letter should be omitted when it is used with Lam”
(»). This shows that the candidates had sufficient knowledge on the particle ().
Extract 6.1 shows a sample of correct response.
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Extract 6.2: A sample of a good response to question 6

The Extract 6.2 above is a sample of a good response from a script of a
candidate who changed all the sentences as required after inserting particle

“Lam b2 (P‘D

2.2.5 Question 7: Uses of Predicate of “Inna waakh-waatuha” (k15313 ).

This question had six items and the candidates were required to identify the
predicate from the given sentences. The question tested the candidates’ ability in
the use of predicate of “Inna waakh-waatuha” (&s3/s ) in sentences.
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The question was attempted by 20,536 candidates (100%). Item analysis shows
that 16,746 candidates (81.5%) scored from 0 to 1.5 marks, which is poor
performance and 694 candidates (3.4%), scored from 2 to 3.5 marks, which is
average performance. Furthermore, 3,096 candidates (15.1%) scored from 4 to 6
marks, which is good performance. The general performance in this question

was poor since a large number of candidates scored below average as
summarized in Figure 7.
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Figure 7: Candidates’ Performance in Question 7

Candidates’ responses revealed that the candidates who performed poorly in this
question were unable to identify the predicate from the given sentences. Most of
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them identified the noun of “Inna waakh-waatuha” (&isi[s &) instead of
predicate of “Inna waakh-waatiha” (&isis ). Some of the candidates
identified “Inna-waakh-watuha” (&isi/s &) in the sentence instead of the
predicate of “Inna waakh-waatuha” (&=(s3s ). This poor performance
indicates that, the candidates did not realize that, if you put any of the words
used in the sentences which are (<) (indeed) or (¢<) (but) or (&) (as if) or (S
(perhaps) in the sentences, it will change the predicate from the nominative case
(Es4+4/) to the accusative case («s<ief). The candidates who failed to respond
correctly had insufficient knowledge of “Inna-waakh-watuhaa” (&ssls o).
Extract 7.1 shows a sample of a poor response.

Extract 7.1: A sample of a poor response to question 7

The Extract 7.1 above shows a sample of a poor response from a script of a
candidate who was unable to identify the predicate from the given sentences.

Further analysis of the candidates’ responses shows that, most of the candidates
who had average performance were able to answer correctly some items of the
question and failed to answer others. One of the candidates in item (7<) desf 3is
47-7-@-' i u-uu-'/ for example, identified the word u-wd/ as the predicate instead
of Lad 5L This shows that, the candidates who failed to answer other items
correctly in this question had partial knowledge of predicate of “Inna waakh-
waatuha” (&=s3/s &) in Arabic Language.

However, there were a few candidates who performed well in this question.
These candidates were able to identify the predicate from the given sentences as
required. One of the candidates for example, wrote the words «71)4ia9), (7<)
Load Pluf (T )ids (73)Laly (7o)t , (T5)J#~ are predicates of “Inna
waakh-waatiha” (&5 ). This correct answer suggests that, this candidate
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had not only sufficient knowledge on functions of particles of “Inna waakh-
waatiha” (&is3/s ) in the sentence but also had the knowledge of the meaning
of these particles used above. Extract 7.2 shows a sample of a good response.
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Extract 7.2: A sample of a good response to question 7

Extract 7.2 above shows a sample of a good response from a script of a
candidate who identified all the predicates of “Inna-waakh-waatuha” ( <&/

¢#il$3/9) as required.

2.2.6 Question 8: Verbal Sentences

This question required the candidates to construct six verbal sentences. This
question tested the ability of candidates to express themselves in simple
sentences.

The question was:-
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The question was attempted by 20,517 candidates (99.9%). The performance in
this question was poor since 15,763 candidates (76.8%) scored below average.
Item analysis shows that 15,763 candidates (76.8%) scored from 0 to 1.5 marks,
which is weak performance, 1,083 candidates (5.3.%) scored from 2 to 3.5
marks, which is average performance and 3671 candidates (17.9 %) scored from
4 to 6 marks, which is good performance. Figure 8 summarizes the performance
of candidates.
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Figure 8: Candidates’ Performance in Question 8

The candidates who scored low marks in this question were unable to construct
six verbal sentences as required. Some of the candidates copied sentences from
the different questions and wrote them as answers. While other candidates left
the question unanswered. There were also some candidates in this category who
wrote meaningless sentences. This shows that most candidates had insufficient
vocabulary in Arabic Language. Extract 8.1 is an example of a wrong response
provided by one of these candidates.
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Extract 8.1: A sample of a poor response to question 8

The Extract 8.1 shows a sample of a poor response from a script of the candidate
who failed to answer the question as required.

The candidates with average scores in this question were able to construct some
sentences which had grammatical errors. This shows that, the candidates who
failed to answer other items in this question had partial knowledge of Arabic
verbal phrases

However, there were few candidates who performed well. These candidates
were able to compose six verbal sentences themselves. One of the candidates for
example, wrote (81) sl A ol sl (8) sl Lol i pidi (8 =) puntgal) i
Coutl) (82) plelalf oy pa rakai (8-2) 8 sS & jbses pileal) (§ gy (8 3) & padd) (i pd) i ot Al The
candidates who performed well in this question considered the principles of a
verbal sentence. Extract 8.2 below is a sample of such a response.
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Extract 8.2: A sample of a good response to question 8

The Extract 8.2 above shows a sample of a good response from a script of a
candidate who was able to create six verbal sentences as required.

2.3 SECTION C: Composition

This section had four questions: one on the letter writing, the second on article
writing and two questions on response to readings based on the stories of “The
Kingdom of Bee” and “The Lazy Rat”. The candidates were required to attempt
only three questions. Each question carried fifteen (15) marks, making a total of
45 marks.

2.3.1 Question 9: Article writing

The candidates were required to write an article on the danger of drinking
alcohol to human health. The question tested the candidate’s ability to write and
express themselves in the Arabic Language. The question was:-
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The question was attempted by 3,224 candidates (15.7%). Item analysis shows
that 3,098 candidates (96.1 %) scored from O to 4 marks, which is poor
performance and 124 candidates (3.8%) scored from 4.5 to 9.5 marks, which is
average performance. Furthermore, 2 candidates (0.1%) scored 10 marks, which

is good performance. The general performance in this question was poor since a
large number of candidates scored below average as summarized in Figure 9.
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Figure 9: Candidates’ Performance in Question 9

Most of the candidates skipped this question due to lack of adequate knowledge,
insufficient vocabulary and poor mastery of the Arabic Language. Most of the
candidates who performed poorly in this question wrote on the danger of
drinking alcohol to the society instead of the danger to human health. Some of
the candidates just copied words or passages from other questions and put them
as their answers. A few of them wrote inadequate descriptions, and others wrote
something meaningless. This incorrect answers show that these candidates
lacked enough vocabulary and skills to express themselves in Arabic Language
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on the dangers of drinking alcohol to human health. Extract 9.1 shows a sample
of a candidate who performed poorly in this question.
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Extract 9.1: A sample of a poor response to question 9

Extract 9.1 above shows a sample of a response from a script of the candidate
who provided incorrect responses.

However, there were few candidates who had average performance in this
question. These candidates were able to write an article on the danger of
drinking alcohol to human health. Most of these candidates however, failed to
organize their points in good order and did not provide sufficient explanations.
They also mixed incorrect and correct responses. Moreover, their responses had
a lot of grammatical mistakes and spelling errors.
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There were a few candidates who performed well in this question. These
candidates were able to explain the danger of drinking alcohol to human health
as the question demanded. Moreover, they arranged their ideas in a good flow.
Their responses had minor spelling mistakes and grammatical errors. This
implies that these candidates had sufficient vocabulary in Arabic Language.
Extract 9.2 shows a sample of a good response.
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Extract 9.2: A sample of a good response to question 9

The Extract 9.2 shows a sample of a response from a script of a candidate who
explained correctly the danger of drinking alcohol to human health although the
response had some grammatical errors.

2.3.2 Question 10: Letter writing

The candidates were required to write an official letter to the librarian asking
him for books to study. The question tested the candidates’ ability of writing an
official letter as well as of expressing their thoughts fluently, logically and
appropriately in the Arabic Language. The question was:-

Moo, wgg M 410 ’/°1 ”/z’.‘°¢£)’? ;”1.../:0,0 ,°/‘/.’./, :o
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The question was attempted by 13,054 candidates (63.6%). The performance in
this question was poor as 1,1785 candidates (90.3%) scored from 0 to 4 marks,
which is poor performance, 1,250 candidates (9.6%) scored from 4.5 to 9.5
marks, which is average performance and 19 candidates (0.1%) scored from 10
to 13 marks, which is good performance. Performance in question 10 is
summarized in Figure 10.
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Figure 10: Candidates’ Performance in Question 10

In this question, the candidates who performed poorly were unable to write an
official letter to the librarian asking him for books to study. Most of them failed
to write the main body of the letter instead they repeated the question. Some of
them just copied some words from the passage and used them as their answer.
Others provided answers which were not related to the demand of the question.
One of the candidates for example, wrote a self-introduction asking for a job
and a few of these candidates provided unclear explanations. This poor
performance of the candidates shows that these candidates had inadequate
knowledge of letter writing and poor mastery of the Arabic Language. Extract
10.1 shows a sample of a poor response.
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Extract 10.1: A sample of a poor response to question 10

The Extract 10.1 shows a sample of a response from a script of a candidate who
was not able to answer the question correctly.

The candidates who got average performance were able to write the address and
some explanations with grammatical errors. This indicates that, the candidates
had not only insufficient vocabularies, but also partial knowledge on letter
writing skills.

However, there were a few candidates who performed well. These candidates
were able to write an official letter to the librarian asking him for books to
study. They adhered to the principles of formal letter writing in the Arabic
Language. The good performance of these candidates in letter writing shows
that, these candidates had adequate knowledge on letter writing and a good
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command of the Arabic Language. Extract 10.2 shows a sample of a good

response.
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Extract 10.2: A sample of a good

response to question 10

The extract 10.2 shows a sample of a good response from a script of a candidate
who was able to write a formal letter to the librarian asking him for books to
study as required, though there were some grammatical and spelling mistakes.

2.3.3 Question 11: ‘The Kingdom of Bees’

The candidates were required to clarify the statement that says; Unity is the
power of success using the story of ‘The Kingdom of Bee’. This question tested
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the candidates' ability to build strong arguments as well as in expressing
themselves in the Arabic Language. The question was

g

CR GRS E RN ISR

The question was attempted by 10,085 candidates (49.1%). The performance in
this question was poor as 8,298, candidates (82.3%) scored from 0 to 4 marks,
which is poor performance, 1,767 candidates (17.5%) scored from 4.5 to 9.5
marks, which is average performance and 20 candidates (0.2%) scored from 10
to 13 marks, which is good performance. Performance in question 11 is
summarized in Figure 11.
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Figure 11: Candidates’ Performance in Question 11

Most of the candidates who attempted this question performed poorly. These
candidates were unable to elaborate the statement that says; unity is the power
of success using the story of ‘The kingdom of Bee’. Majority of the candidates
provided unclear explanations. Some of them copied some words from question
paper. Others narrated the story of ‘The Kingdom of Bee’ as it is without giving
any elaboration of the statement given according to what they read in ‘The story
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of the Kingdom of Bee’. This poor performance shows that these candidates
lacked adequate knowledge on the story of “the Kingdom of Bee” and they did
not have enough vocabulary in the Arabic Language. Extract 11.1 shows a
sample of poor response.
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Extract 11.1: A sample of a poor response to question 11

The Extract 11.1 shows a sample of a response from a script of a candidate who
provided unclear elaboration due to poor mastery of the Arabic Language.

The candidates who scored from 4.5 to 9.5 marks had correct interpretation of
the question and demonstrated knowledge of the subject matter they also
observed essay writing skills. However, their performance was affected by
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failure to exhaust all the relevant points. Some of these provided both correct
and incorrect responses. There were also some who repeated points.

There were a few candidates who performed well in this question. These
candidates were able to provide appropriate elaborations of the given statement
by showing that unity is power for success. These candidates organized their
points in a logical flow and followed most of the principles and ethics of essay
writing. Their responses however had some spelling and grammatical errors.
Good performance in this question shows that the candidates had sufficient
knowledge of the story: ‘The Kingdom of Bee’. These candidates also had good
mastery of the Arabic Language. Extract 11.2 shows a sample of a good
response.
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Extract 11.2: A sample of a good response to question 11

The Extract shows a sample of a response from a script of the candidate who
was able to elaborate the given statement that unity is the power of success
giving sufficient explanations. There were however some grammatical and

spelling errors.
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2.3.4 Question 12: The Lazy Rat

In this question, the candidates were required to elaborate the given statement
which says that dreaming is not achieved by wishful thinking but by working
hard and being patient according to the story of ‘The Lazy Rat’. The question
tested the candidates’ ability of building convincing arguments and in
expressing themselves in the Arabic Language. The question was:-

S s e 0 2l a0 ol b ¥
Al Gor MugﬁMsgjw\g%

The question was attempted by 7,574 candidates (36.9%). The performance in
this question was poor as 6,610 candidates (87.3%) scored from 0 to 4 marks,
which is poor performance, 957 candidates (12.6%) scored from 4.5 to 9.5
marks, which is average performance and 7 candidates (0.1%) scored from 10 to
12 marks, which is good performance. Performance in question 12 is
summarized in Figure 12.
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Figure 12: candidates’ Performance in Question 12
The analysis of the candidates’ responses shows that, the candidates who
performed poorly in this question were unable to answer the question due to
poor command in Arabic Language. They were required to interpret the
statement which says; dreaming is not achieved by wishful thinking but by
working hard and being patient according to the story of ‘The Lazy Rat’.
Majority of candidates that answered this question provided unclear

explanations. Some of these candidates just copied words from other questions
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and used them as responses. Other candidates just narrated the story as it is
without interpreting the statement given. Furthermore, their responses had a lot
of spelling mistakes and grammatical errors. This poor performance in this
question shows that, these candidates did not have adequate knowledge on the

story of ‘The Lazy Rat’. They also had poor mastery of the Arabic Language.
Extract 12.1 shows a sample of a poor response.

\ND

oL S e N )
= =

AR TN RS TNy
Y - \l?- " _ J -

N N Laesla

3
NP Y
- C

. . T ~ e .~
\‘f ~ \\)“3 \SQ_UH‘\\U . A, \\\&X\\

w oo X

N4\ N\ A N S U TS E ot N NG
D) N ‘ A e 5=

v

S-S OJ’\ ELCUN I . WUV NG W

- B \J T‘) - k"ig—
L \:;\:._:;“ (o
% ] - ? - - -
AN ff\'-a;\ B\ s —\1\\ BSR4
C\S—\ \0\\\ 1 n_J\ AL Q '\ m \\Q \ /\\)\ ) u—:\w\:z °‘Q
~ \J"’v \)\ = ?r‘

arr ) ;:i)\ n';)\‘sS\ D T &—5 _\—g \":3 )\/\J\x ‘i‘.t)

~/ =

SO N SR N EWN S nq\x)\\’ ¥

° ), -
EITS l
N TR

-]
-
n

Extract 12.1: A sample of a poor response to question 12

The Extract 12.1 shows a sample of a poor response from a script of a candidate

who provided unclear explanations.
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The candidates who scored from 4.5 to 9.5 marks were able to identify the
demand of the question. They had sufficient knowledge of the subject matter.
Some of these candidates provided relevant introduction but failed to provide
good conclusions. Besides that, some of these candidates mixed up correct and
incorrect responses. They also did not score higher marks because of failure to
provide exhaustive elaborations.

There were some few candidates who performed well in this question. These
candidates were able to interpret the statement that dreaming is not achieved by
wishful thinking but by working hard and being patient according to the story of
‘The Lazy Rat’ as required. One of the candidates for example, wrote,
“Dreaming wishful thinking and not working hard as well as not to being patient
led the lazy Rat to a disastrous end and almost starving to death”. Furthermore,
these candidates organized their points appropriately, starting with introduction,
main body and conclusion. However, their responses had some grammatical
errors and spelling mistakes. These candidates’ good performance shows that
they had adequate knowledge on the story of the Lazy Rat and good mastery of
the Arabic Language. Extract 12.2 shows a sample of a good response.
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Extract 12.2: A sample of a good response to question 12

The Extract 12.2 shows a sample of a response from a script of a candidate who

was able to interpret and discuss the statement provided as required and making

reference to daily life.

o1



3.0

4.0

ANALYSIS OF CANDIDATES’ PERFORMANCE IN EACH TOPIC

The analysis of the candidates’ performance in each topic in 2019 indicates that,
question 1 (multiple choice) which was on the following topics: Verb sentence,
Inflection and Uninflected, Defective verb, Nouns, Nominal clause, Adjective,
Rhetoric had average performance since 9,218 candidates (44.9%) scored from
3 to 10 marks. Further analysis indicates that the candidates also had average
performance in question number 2 (matching items) from the topic of el
(adjectives) since 7,207 candidates (35.1%) scored from 1.5 to 5 marks. This is
because they mastered partially these topics.

All other questions from different topics had poor performance. The questions
were: Question number eight from the topic of Verbal Sentences where only
4,754 candidates (23.2%) scored from 2 to 6 marks, Question number seven
from the topic of Invalidating nouns and Defective verbs only 3,190 candidates
(18.5%) scored from 2 to 6 marks, question three from the topic of inflection
(<< ¥) whereby only 3,189 candidates (15.5%) scored from 3 to 10 marks.
Question number five from the topic of Meaningful sentences where 3,170
candidates (15.4%) scored from 2 to 6 marks. Furthermore, candidates had poor
performance in Response to readings as (15.2%) of the candidates scored from
4.5 to 15 marks. The candidates had also poor performance in composition since
(6.8%) of the candidates scored from 4.5 to 15 marks. Other questions that were
performed poorly were question number six from the topic of Tenses where
1,694 candidates (8.2%) scored from 2 to 6 marks and question 4 from the topic
of meaningful sentence as 1,357 candidates (6.6%) scored from 2 to 6 marks,

The performance of the candidates in the topics tested is summarized in
Appendix A, where yellow colour indicates topics with average performance
and red colour indicates topics with weak performance.

CONCLUSION

The general performance of candidates in Arabic Language in the CSEE 2019
was poor although the performance was average in question one and two. This
poor performance suggests that the candidates lacked enough vocabulary and
skills to express themselves in Arabic Language. The candidates also had
inadequate knowledge on letter writing. The candidates did not master the
Arabic Language.
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5.0

RECOMMENDATIONS

In order to improve performance of candidates in future the following
recommendations are given:

(a) Teachers should guide candidates to express their daily routine and past
events using simple sentences to enable them to express themselves in
Arabic Language.

(b) Students should be encouraged to read more books and other related
materials like newspapers and journals so that they can widen their
knowledge on the subject.

(c) Teachers should guide candidates to discuss themes and write summaries of
literary works studied.
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Summary of Candidates’ Performance in Each Topic

025- ARABIC LANGUAGE

Appendix A

S/IN Topic Total 2019
Number The Percentage of Remarks
of Candidates who Scored 30
Questions as Average Marks or
Above
Multiple 1 44.9 Average
choice
questions
from various
topics
Matching 1 35.1 Average
items from
the topic of
adjective.
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